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EXERCISE

When a number is added to 37.5% of itself,
the result is 132. Find the number.

g fret T&m | 391 37.5% Sl Se i
132 ¥ el ? Al Wl W

(A) 48 (B) 96

(C) 108 (D) 192

1
If 577% of a number is subtracted from

the number itself, the result is 42, then
find the original number.

afx fret Tem ¥ ¥ Ee 57;% e S

RO 42 W B ¥ A YA HE ¥ k|
(A) 96 (B) 48
(C) 98 (D) 196

If 128 is added to a number then number
1
becomes 577% % of itself. Find the number.

. . . 1
fordlt W ¥ 128 Sied W HEm g @ 577%

B W ® oAl W W A

(A) 112 (B) 200

(C) 224 (D) 124

If 1240 is added to a number then number

becomes 444%% of itself. Find the original

number.

g freh e ¥ 1240 Ser W™ @ 98 WA A
4445% 7 ST ¥ @ dem T

(A) 360 (B) 180

(C) 240 (D) 320

A man donates 4% of his income in charity
and deposits 10% of the rest in the bank.
If he still has 21600 rupees left with him,

then find his income.

T oafe SO 3 T 4% T H H HI B U9
FHT 10% SF § SHI L 21 AR 3TH qE e of
21,600 I9 B, A IR ™ FA B

(A) 35,000 € (B) 25,000 €

(C) 50,000 € (D) 20,000 €=
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A man had a wire of a certain length.10%
of the wire gets stolen, 70% of the
remaining wire is sold by him. If he is still
left with 1620 meter long wire then find
the original length of wire-

TF afed & IE ffved o w1 ar em 10% R
=0 B S © SR 9w 70% SHE g e e
S sEe U et off 1620 W wwen AR wEn
B W AR B A A FAT T2

(A) 5000 X (B) 6000 HeX

(C) 5500 #rexX (D) 6500 HreX

2
The population of a city increases by 165%

1
in the first year, decreases by 375% in

1
second year and again increases by 57; %

in the third year. Find the present
population of the city if the total population
after three years will be 5,30,000.

2
T e e wd i 16 % el T T

1
i 87 % e # ot dw w ST %

? W W IR H A TEA @ e Ak 3 o
€ I W H G 530,000 B STCH?

(A) 1,44,000 (B) 2,84,000

(C) 2,88,000 (D) 2,68,000

A man spent 5% of his income on transport,
20% of the remaining on food and further

donates Rs. 120. If he is left with Rs. 1400,
find his income.

TH AfF O A= F 5 Uhava R W owd
FHE T AT H 20 HlawE WA W @H w2
120 %, TA ot @1 21 AR SHE U AW @ 1400
® U9 B A ST I FA BN

(A) 1,500 F7 (B) 2,000 7

(C) 2,500 7 (D) 3,000 &7
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12.

In a library, 20% of the books are in Hindi,

50% of the remaining are in English and
30% of the remaining are in French. The
remaining 6300 are Mathematics books.
Find the total number of books in the
library.

Th Y § 20 ufavm feam &l wr @1 9w
1 50 W foRae Tfer 1 SR 9w w1 30 Wfen
fraa %= &1 T ARk 99 6300 fRae Ao wT @
@ gk H wel A )

(A) 22,000 (B) 23,000

(C) 22,500 (D) 23,500

A manufacturer sold his goods to a
wholesaler at a profit of 25% . The
wholesaler sold it to a retailer at 20% profit.
The retailer further sold it to a customer
at a profit of 28%. Find the cost price of the
goods for the manufacturer if the customer
purchased it at Rs. 9600.

TF IARE FHl oih AW & T =g 25
T ® 9 W Sud © SR o AU el
SO 1 20 Jiae@ o9 WSl € SR HEat
R TEk k1 28 UAwd ® N W S=al € @t
S % fod 39 9% i W god @ Enn afk
TEFR ITEE 9600 T A 7?2

(A) 2,500 (B) 3,000

(C) 3,500 (D) 5,000

When the cost of tickets is decreased by
10% at a theatre, the sale of tickets there

1
increases by 577%. Find the percentage

change in the income of the theatre.

s o % fefere = fast 57;% T3 S
? W fefhe =1 ®ma 10 iovm @ o2 S €
ITHRT A fhad % W A T SR

3 2
A) 42—-% B) 42-%
7 7

2 3
(C) 42-% (D) 41-%

7 7
In an election between two candidates, one
candidate gets 84% of the votes and he wins
by a margin of 476 votes. Find the total
number of valid votes.
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14.

15.

16.

84 Higerd dic Ww e © SR ° 476 @@l ° Sia
S @ aifen faw d§ s fead died @2
(A) 600 (B) 700
(C) 1400 (D) 2100

In an election between two candidates, one
candidate gets 55% of the total valid votes,
while 20% of the votes were declared
invalid. If the total number of votes was
7500, find the total number of votes
obtained by the other candidate.

T SEEER # W Th YA W SEIRAR o
A w1 55 WawE @ W g 2 20 Wwar &
Iy Wi #= K3 9@ € Ak we 9 7500 @
B @ TR IERER & fFa de faa?

(A) 3000 (B) 2300

(C) 2400 (D) 2700

In a fresh watermelon, weighing 20 kgs,
the water quantity is 96%. After 5 days,
the water quantity reduces to 95% due to
evaporation. How much does the
watermelon weigh now?

20 fFU. & TH d W H 96 wiaw Ut ©
5 fedl & 9] arvfieior & HROT WS H G R
AGN 95 Uiawd T S ® i ofE RSl 1 oo
forer 22

(A) 8 T (B) 12 fem.

(C) 14 fem. (D) 16 feam.

A fresh fruit contains 68% water and a dry

fruit contains 20% water. How many kgs of dry
fruits can be made from 75 kgs of fresh fruits?
e el H 68 Wiaw W ® SR g@ wel H 20
yfge oAt ® Al 75 TR de well @ fRa gw
A S W TERd 72

(A) 10 fem. (B) 20 ferm.

(C) 30 fwm. (D) 40 ferm.

A solution of salt and water contains 5%
salt. If 20 litres of water evaporates, the

solution now has 15% salt. Find the volume
of the initial solution.

T R U H TH U W 5 Gav e © SN
20 oftex 9 aftad @ STar ® e 15 wiaer
o9 S Al YRFAE Sl R OAET S| 2
(A) 157X (B) 20 @R

(C) 25 (D) 30 R
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17. A 12-litre mixture of acid and water contains
30% acid. How much litre of water should be
withdrawn to make the acid quantity to be 40%?

12 oftex ufge @R ot & fago § 30 wfoea ufae
21 tfge &1 40 yfae s % fou fra oftex ot

fHepter grm?
(A) 3.5¥X (B) 3w
(C) 2.57X (D) 4 TR

18. A man spends 60% of his income and saves
the rest. If his income increases by 15%
and expenditure increases by 15%, find
the percentage change in his savings.

T AfR FE E B 60 FvE T w7 A
IHT A@ 15 awa S 4 WE R wd ot 15%
e fen S Sue! g=d fRa wfae @ Smee?
(A) 15% B) 20%
(C) 5% (D) 10%

19. A man spends 75% of his income. If his
income is increased by 20% and

expenditure is increased by 10%, find the
percentage change in his savings.

T AfE AT TF T 75 W T ww ® Al
IHHT A 20 WK =g € W AR @H 10 giaw
g1 fean S @t 39! a9a fead wfaera ag S ?
(A) 25% B) 75%
(C) 50% (D) 10%

20. A man spends Rs. 5700 from his income of
Rs. 8550. If his income and expenditure
are increased by 19% and 13% respectively,
find the percentage change in his savings.
T AR 8550 & ™ H W 5700 T AT HI 7
Ifg o den =@ # 19 yfawm oR 13 wfoem &6
gfg & @ 9=a § fear ufgea 9Radw g
(A) 30% B) 31%

(C) 32% (D) 33%
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